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* Read the following multiple choice items and choose the best Farsi equivalent (a, b, ¢, d)
Jor the underlined words and then mark it on your answer sheet.

1. It expresses a certain attitude of mind.

2. Natural law gave way to the principles of the utilitarians.

3. The deficit is an influence depressing e
oAl 3, 5 AR .tyie O3S oSl

4. The remarkable academi@mi Y which they achieved can be explained.
IS usa Sonak .l

available was Hmited.

an awkward conclusion.

7. They introduced an invaluable distinction.
Shad 3l 3 oot g oAt Blied o olpSas N S Ll

8. She eschewed fudging.
R P RYT SIRERVIRS SO WSS o918 5 el sta KU Ll

WS e Jolaie by (5 )18 cuadi Ly DS bt el seliat

9. It has an pecuniary magnitude.
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10. He had understood the ideological function of the concept of equilibrium.
ﬁb‘}a L)i'.l_)i:b ad LJJ;.LC. (51_.\3.0 T JJL:!:; f‘J‘@“‘iﬁ e CLL.“AS‘- us‘)d sl

11. Different commodities require different proportions of materials.

12. They bought the products of the artisans.
U‘J:LAJ:&A CSLAJJ\SLL.L:J od

13. Net product is the value of the increment ofé)rodac

14. What happens instead 1s a

15. Two existing firms ¢

SIS G Jsridio o180 48 8l
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gains are also social gains.
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17. Oil 1s a basic input for petrochemicals.
(obeadie Buls o wol Shhss oz lalid) sute .

18. There are unresolved questions where disagreement remains.
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19. Commuters form car-pools or move closer to the city.
Sl G908 sl o Olohs G aaelS Al

20. Scrupulous economists distinguish their role from their status.
S8 53 388 (e v

21. In a democracy economusts have a monopoly.
{5)4.;& ] JLL&;_'!‘ G

22. 1t is determined by factors such as the enterpﬁ%x\/ genuity of the people.
psyo odlial 5 81, paye (sdiadisd g (gl culd; Al
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23. By the same token, govern I1d be inclined to control the growth.
wlippids s GLL G .o wlitie gaaly0 L.l
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24. In the unit of @\J PREprices are quoted.

cg:):\.a.a g)tds o Lfl.:.u::.:’:s .J:JJ xa
25. It will femain as long as there is disagreement between wages and profits.
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26. 1t can help us understand the complete pattern of consumption.
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27. Tt deliberately simplifies the individual building blocks of the analysis.
Lg‘)t':i.b_u J‘_).il.e (_;Le_’dta' N L;JL'SAL.u (_;5..\.:_;. ;!_}_?J Al
sl sealic 3.5 0
28. He tried to introduce accumulation into his model.

J_)Lm."lu?.ﬂ.ab_}:al:ﬁ.d

29, Devaluation has certain disadvantages.
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y let alone the coordmating function.
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The sharpest divergence of view about the importance of monetary policy comes over
the policy measures to be adapted to cope with inflation.
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3. Trading is very expensive in a barter economy.

4. There may not be adequate motives for production.

5. Lard and personal faculties are natural wealth.

6. Inflation generates social unrest.
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